
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू मे गाय 68 0 5 73 0 0 0 0 0 73

2 शçुक गाय 56 0 0 56 0 0 3 0 0 53

3 Ĥͧश¢ण हेतु 15 0 0 15 0 0 0 0 0 15

4 औसर 154 0 5 159 0 0 2 0 0 157

5 मादा बÍचे 40 2 0 42 0 0 5 0 0 37

6 सांड बछड़े 18 0 1 19 0 0 0 0 0 19

7 नर बÍचे 30 1 0 31 0 0 1 0 0 30

381 3 11 395 0 0 11 0 0 384

1 दधू मे गाय 7 0 1 8 0 0 0 0 0 8
2 शçुक गाय 10 0 0 10 1 0 1 0 0 8
3 औसर 3 0 0 3 0 0 0 0 0 3
4 मादा बÍचे 4 0 0 4 0 0 0 0 0 4
5 नर बÍचे 2 0 0 2 0 0 0 0 0 2
6 सांड बछड़े 1 0 0 1 0 0 0 0 0 1

27 0 1 28 1 0 1 0 0 26

दधू मे गाय 7 0 1 8 0 0 0 0 0 8
शçुक गाय 28 0 0 28 0 0 1 0 0 27
औसर 22 0 4 26 0 0 0 0 0 26
मादा बÍचे 20 2 0 22 0 0 4 0 0 18
नर बÍचे 9 2 0 11 0 0 0 0 0 11
सांड बछड़े 8 0 0 8 0 0 0 0 0 8

94 4 5 103 0 0 5 0 0 98

दधू मे गाय 3 0 0 3 0 0 0 0 0 3
शçुक गाय 2 0 0 2 0 0 0 0 0 2
औसर 17 0 0 17 0 0 0 0 0 17
मादा बÍचे 2 0 0 2 0 0 0 0 0 2
नर बÍचे 1 0 0 1 0 0 0 0 0 1
सांड बछड़े 0 0 0 0 0 0 0 0 0 0

25 0 0 25 0 0 0 0 0 25

शçुक गाय 2 0 0 2 0 0 0 0 0 2

529 7 17 553 1 0 17 0 0 535

1  गाय 30 0 0 30 0 0 0 0 0 30
2 सांड @cSy 70 0 0 70 2 0 0 0 0 68

100 0 0 100 2 0 0 0 0 98

1  गाय 2 0 0 2 0 0 0 0 0 2
2 सांड @cSy 13 0 0 13 0 0 0 0 0 13

15 0 0 15 0 0 0 0 0 15

1 गाय 0 0 0 0 0 0 0 0 0 0
115 0 0 115 2 0 0 0 0 113

644 7 17 668 3 0 17 0 0 648
* TWH - TRANSFER WITHIN THE HERD.
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